Durchgang 1

Durchgang 2

Durchgang 3

Durchgang 4

Finale

Durch-
Bahn gang Gruppe Zeit Gruppe Zeit Gruppe Zeit_| Fehler [Punkte Gruppe Zeit Gruppe Zeit
1 1A 'St_Johann im Walde 4391 AuBervillgraten 1 37.16 AuBervillgraten 1 34,32 AuRervillgraten 1 32,74 Huben im Otztal 3 36,32
L2 1on Polling 1 3272 Lisloa Brixlegg 4349 Thurn 1 3989 | 10 Huben im Otztal 3 3325 | 0 Sillian 32.26
3 Sillian 3464 | 0 | 46538 | EH D Ainet die Jungen [ 3610 20 Haiming 3 | 3751 | 30 Reith i. A1 | 3895 | 20
4 Flaurling 3 4632 | 25 | I Thurn 1 [a571] o© 454,29 58 Huben im Otztal 3 37,62 457,38 Sillian [ 3327] o 466,73]
5 5A Huben im Otztal 2 | 4438 | 50 | 5 | 5A Huben im Otztal 1 | 3431 | 55 2A Reith i. A.1 [ 3868 | 461,32
[ I Flaurling 1 | 3700 o | 46300 2] 6n Haiming 3 [ 3082 | 10 | 45018) 3A St_Johann im Walde 39,62
7 1B AuRervillgraten 1 [ 325 | 0 467,45 18 Schlaiten 2 | 36,46 | Sillian [3281] 0 467,19
| s 28] Ainet die Jungen 3413 | 0 28 Huben im Otztal 3 3550 | 0 | 46450] Polling 1 [ 3280 | 10
9 3B Langenfeld 1 | 3653 | 10 453 47| | 8 | 3B Reith i. A.1 | 3265 | 15 452,35
10 |48 Ainet die Olten ] 3530 30 ) | 48 Flaurling 1 [ 3524 ] 20
5B Haiming 3 | 4035 | 5 454,65| 6 | sB Glanz [ 3392 | 10
68 Oetz | 4261 10 1168 St JohannimWalde | 3716 | 5 | 457:84
1A Brixlegg | 4065 [ 15 444,35 | 4 | 2A Sillian [3228] 0 467,72]
2A Ladis | 2089 | 30 13]3A Langenfeld 1 [ 4295] 10
3A Huben im Otztal 1 [333] 0 464,67] 2 | aA Polling 1 [ 30,74 | 464,26
16 | aA Reith . Al [ 3699 0 15| 5A AuBervillgraten 3 37.78
5A Thurn 2 | 4061 | 20
6A Schlaiten 2 ] 36691 0 463,31
19 |18 Glanz [ 3594 0 464,06
Huben im Otztal 3 37311 0
\ 40,88 \ 15
Thurn [ 3674 | 10 | 45326
| 23 |s8 AuRervillgraten 3 | 3603 | 15 | 44897
I 22 |68 Rinn 3 | 4427 | 20




